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Exercice 1

Cocher les bonnes réponses :
495 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
270 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
141 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
170 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10
32 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 2

Cocher les bonnes réponses :
176 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
90 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
375 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
684 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
250 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 3

Cocher les bonnes réponses :
189 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
108 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 0] par 10
710 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
100 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
325 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 4

Cocher les bonnes réponses :
88 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
255 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
470 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
260 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
99 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 5

Cocher les bonnes réponses :
246 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
650 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
116 est divisible : L] par 2 Ul par 3 L par 5 L] par 9 U] par 10
144 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10
355 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 6

Cocher les bonnes réponses :
380 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
441 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
249 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
156 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
660 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
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